Student Academic Transcript

Academic Transcript

Transcript Level		Transcript Type	
Undergraduate - Quarter		Web Transcript	
Student Information	Transfer Credit	Institution Credit	Transcript Totals

This is not an official transcript. Courses which are in progress may also be included on this transcript.

Student Informatior	l
Name	Birth Date
Carreon, Lidia J.	25-DEC
Curriculum Information Bachelor of Arts in Educ	ation
Curriculum Information Bachelor of Arts in Educ Major Concentration	ation Major and Department

Transfer Credit Accepted by Institution

201520 : Skagit Valley College

Subject	Course	Title		Grade	Credit hours	Quality points	s R
CPLA	120 MICROSOF		T OFFICE BASIC	S T 3.7	3.000	11.10	
	Att Ho	empt urs	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA
Current Term	3.0	00	3.000	3.000	3.000	11.10	3.70

201640 : Skagit Valley College

Subject	Course	Title		Gra	de Cr	edit hours	Quality point	s R
ENGL	101	ENGLISH C	OMPOSITION I	Т 2.	3 5.0	000	11.50	
HIST	LEL	PACIFIC NV	V HISTORY	T 1.	3 5.0	000	6.50	
PHED	125	PHYSICAL I	ITNESS	Т 4.	0 1.0	000	4.00	
UNIV	NON	COLLEGE S	UCCESS SKILLS	I T(P)	2.0	000	0.00	
	Att Ho	empt urs	Passed Hours	Earned Hours		GPA Hours	Quality Points	GPA
Current Term	11.0	000	11.000	11.000		11.000	22.00	2.00

Subject	Course	Title	Grade	Credit hours	Quality points	R
BACR	LSS	US HISTORY II: D	T 2.0	5.000	10.00	
CMST	210	INTRPERSNL COMMUNICAT: D	Т 3.0	5.000	15.00	
ENVS	100	INTRO ENVIRONMENTAL SCI	Т 3.3	5.000	16.50	

	Attempt Hours	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA
Current Term	15.000	15.000	15.000	15.000	41.50	2.76

201720 : Skagit Valley College

Subject	Course	Title			Grade	Credit hours	Quality points	R
ART	300	DRAWING F	UNDAMENTAL	S	Т 1.7	5.000	8.50	
BACR	LSS	AMERICAN	GOVERNMENT:	D	тw	0.000	0.00	
ENGL	271	INTRO TO P	POETRY: D		Т 1.7	5.000	8.50	
	Att	empt	Passed	Earı	ned	GPA	Quality	

	Hours	Hours	Hours	Hours	Points	GPA
Current Term	10.000	10.000	10.000	10.000	17.00	1.70

201740 : Skagit Valley College

Subject	Course	Title	Grade	Credit hours	Quality points	R
PHED	125	TAIJI QUAN	T 3.7	1.000	3.70	
UNIV	LEL	WELLNESS FOR LIFE	T 4.0	1.000	4.00	

	Attempt Hours	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA
Current Term	2.000	2.000	2.000	2.000	7.70	3.85

201810 : Skagit Valley College

Subject	Course	Title	Grade	Credit hours	Quality points	R
FNDT	356	NUTRITION	T 3.0	5.000	15.00	
PSYC	100	RPT - GENERAL PSYCHOLOGY	T 2.0	0.000	0.00	

	Attempt Hours	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA
Current Term	5.000	5.000	5.000	5.000	15.00	3.00

Subject	Course	Title	Grade	Credit hours	Quality points	R
PHED	125	PHYSICAL FITNESS	Т 4.0	1.000	4.00	
UNIV	NON	JOB SEARCH TECHNIQUES	T(4.0)	1.000	0.00	
UNIV	NON	NURSING ASST-AIDS EDUC	T(4.0)	6.000	0.00	
UNIV	NON	ORIENTATION/ALLIED HLTH	T(3.7)	2.000	0.00	

Current Term	1.0	000	1.000	1.000	1.000	4.00	4.00
		tempt ours	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA
UNIV	NON	LEARNING	INTO ACTION	T(4.0)	6.000	0.00	
UNIV	NON	MEDICAL D	DIALOGUE II	T(3.7)	3.000	0.00	
UNIV	NON	MEDICAL D	IALOGUE I	T(3.7)	3.000	0.00	
UNIV	NON	ANATOMY	& PHYSIOLOGY	T(3.7)	6.000	0.00	
UNIV	NON	HEALTHCA	RE INTERACTNS	S: D T(3.7)	3.000	0.00	

201840 : Skagit Valley College

Subject	Course	Title	Grade	Credit hours	Quality points	R
CMST	201	PUBLIC SPEAKING	T A-	5.000	18.50	
PSYC	100	GENERAL PSYCHOLOGY	ТВ	5.000	15.00	
UNIV	NON	PRE-ALGEBRA	T(A-)	5.000	0.00	

	Attempt Hours	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA
Current Term	10.000	10.000	10.000	10.000	33.50	3.35

201910 : Skagit Valley College

Subject	Course	Title	Grade	Credit hours	Quality points	R
ENGL	201	COMPOSITION II	ТВ	5.000	15.00	
PSYC	201	LIFESPAN PSYCHOLOGY	T B-	5.000	13.50	
UNIV	NON	BEGINNING ALGEBRA	T(A-)	5.000	0.00	

	Attempt Hours	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA
Current Term	10.000	10.000	10.000	10.000	28.50	2.85

Subject	Course	e Title			Grade	Credit hours	Quality poin	ts R
ART	325	CERAMIC	IS I		ΤA	4.000	16.00	
MTHD	104	RPT - INT	ERMEDIATE ALC	GEBRA	T(D)	0.000	0.00	
		ttempt ours	Passed Hours	Earı Hou			Quality Points	GP/

Currer	nt 4.000	4.000	4.000	4.000	16.00	4.00
Term					10.00	

201930 : Skagit Valley College

Subject	Course	Title	Grade	Credit hours	Quality points	R
BIOL	100	SURVEY OF BIOLOGY	ΤA	5.000	20.00	
MTHD	104	RPT - INTERMEDIATE ALGEBRA I	T(D)	0.000	0.00	

	Attempt Hours	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA
Current Term	5.000	5.000	5.000	5.000	20.00	4.00

201940 : Skagit Valley College

MTHD 104 RPT - INTERMEDIATE ALGEBRA L T(A) 0.000 0.00	Subject	Course	Title	Grade	Credit hours	Quality points	R
	MTHD	104	RPT - INTERMEDIATE ALGEBRA I	T(A)	0.000	0.00	

	Attempt Hours	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA
Current Term	0.000	0.000	0.000	0.000	0.00	0.00

202010 : Skagit Valley College

Subject	Course	Title		Grade	Credit hours	Quality points	R
MTHD	104	INTERMED	IATE ALGEBRA I	I T(B+)	5.000	0.00	
	Att Ho	empt urs	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA
Current Term	0.00	00	0.000	0.000	0.000	0.00	0.00

Subject	Course	Title		Grade	Credit	hours	Quality points	R
MATH	141	PREC	ALCULUS I	ТC	5.000		10.00	
	Atter Hour	•	Passed Hours	Earn Hou		GPA Hours	Quality Points	GPA
Current								

Term	5.000)	5.000	5.000	5.000	10.00	2.00
20203	0 : Lim	ited (Credit				
Subject	Course	Title		Grade	Credit hours	Quality points	R
ZPOS	LOWER	9 LIMIT	ED CR - SVC	Т	9.000	0.00	
	Atte Hou	•	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA
Current	9.000	.	9.000	9.000	0.000	0.00	0.00

Institution Credit

Term : Fall Quarter 2020

Academic Standing

Good Standing

Subject	Course	Level	Title	Grade	Credit Hours	Quality Points	R
CHST	202	UG	INTRO TO CHICANA/O/X CULTURE	A-	5.000	18.50	
CSCD	110	UG	INTRODUCTION TO PROGRAMMING	A-	5.000	18.50	
MATH	142	UG	PRECALCULUS MATH II	В	5.000	15.00	

Term Totals	Attempt Hours	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA
Current Term	15.000	15.000	15.000	15.000	52.00	3.46
Cumulative	15.000	15.000	15.000	15.000	52.00	3.46

Term : Winter Quarter 2021

Academic

Standing

Good Standing

Subject	Course	Level	Title	Grade	Credit Hours	Quality Points	R
CSCD	210	UG	PROGRAMMING PRINCIPLES I	W	0.000	0.00	
GEOG	230	UG	WORLD GEOGRAPHY	В	5.000	15.00	
MATH	161	UG	CALCULUS I	D-	5.000	3.50	

Term Totals	Attempt Hours	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA
Current Term	15.000	10.000	10.000	10.000	18.50	1.85
Cumulative	30.000	25.000	25.000	25.000	70.50	2.82

Term : Spring Quarter 2021

Academic Standing

Good Standing

Subject	Course	Level	Title	Grade	Credit Hours	Quality Points	R
MATH	208	UG	MATH FOR ELEMENTARY TEACHERS I	B+	5.000	16.50	
MATH	209	UG	MATH ELEMENTARY TEACHERS	С	4.000	8.00	
MATH	210	UG	MATH ELEMENTARY TEACHERS	W	0.000	0.00	
PSYC	204	UG	EDUCATIONAL PSYCHOLOGY	A-	5.000	18.50	

Term Totals	Attempt Hours	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA
Current Term	18.000	14.000	14.000	14.000	43.00	3.07

Cumulative	48.000	39.000	39.000	39.000	113.50	2.91
------------	--------	--------	--------	--------	--------	------

Transcript Totals

Transcript Totals -	Attempt	Passed	Earned	GPA	Quality	GPA
(Undergraduate - Quarter)	Hours	Hours	Hours	Hours	Points	
Total Institution	48.000	39.000	39.000	39.000	113.50	2.91